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1.Which two (2) are the key areas of Exercise?
A. Staff

B. Organisation

C. Stakeholder

D. Plans

Answer: AD

2.Leadership stresses the importance of executive support for the BCMS.
A. True

B. False

Answer: A

3.Which two dependencies are validated by Business Impact Analysis? (Choose two)
A. Internal Dependencies

B. External Dependencies

C. Static Dependencies

D. Dynamic Dependencies

Answer: A B

4.Which two levels of organizations activities does business continuity can be integrated?
A. Management

B. Structural

C. Operations

D. Processes

Answer: A,C

5.Adopting the BCMS optimizes the organization's business continuity capability.
A. True

B. False

Answer: A
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